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1. Use the graph to determine the following limits. '
2
@ limfGx) () lm f(x) A1
() lim f(x) (d) lim /(x) ol !
(1a) limit=2
(1b) limit=1
(1c) limit does not exist
(1d) limit=1
. X +3x+3 . X +3x+3
5. Evaluate (a) lim (b) lim
x—1 x—2 x—>2 x—2
(52)

a1

(5b)  As x - 2,the numerator approaches 22 + (3)(2) +3=4+6 + 3 = 13.
However the denominator approaches 0.
Thus the rational function approaches —co and approaches oo from the

right.
Therefore the limit does not exist.
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my1=xz+3ox+3 ]
x—2

X2=2 o]
[]x3:0
[x4:0
[ ]x5:0
x6:0

T

7. At which points is the function shown
discontinuous? [\0

-

The function is discontinuous at x = 1, 3, and 4.

9. Find at least one point at which each function is not continuous and state which of the 3
conditions in the definition of continuity is
violated at that point.

X+5
(a) X—3

The function is not continuous at x = 3.

At x = 3, the denominator is zero, and so the function is not defined.
Furthermore, lirr%x—“L5 does not exist, because the function approaches —oo
xX—

x-3
from the left
and oo from the right.
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